Progress Rail

A Caterpillar Company
AIRBRAKE
PRS ITEM# DESCRIPTION MFG COND. UNIT WT.
AIR BRAKE VALVES & PIPE BRACKETS
1003803R ABD SERVICE PORTION 569730 REC 60.00
1003805R ABDT SERVICE PORTION, LEAKAGE PROTECTION 593037 REC 60.00
1009985R ABDX SERVICE 592905 REC 58.00
1009985 ABDX SERVICE 592905 NEW 58.00
1004043R DB-10 SERVICE 771237 REC 60.00
1004043 DB-10 SERVICE 771237 NEW 60.00
1003802R ABD EMERGENCY PORTION 569729 REC 51.00
1003804R ABDS EMERG. STABILIZED 593057 REC 51.00
1003806R ABDW EMERGENCY PORTION 580926 REC 60.00
1009981R ABDWS EMERG. STABILIZED 593038 REC 60.00
1009983R ABDX EMERGENCY 592907 REC 50.00
1009983 ABDX EMERGENCY 592907 NEW 50.00
1003921R ABDX-L EMERGENCY 592906 REC 60.00
1003921 ABDX-L EMERGENCY 592906 NEW 60.00
1003922R DB-20 EMERGENCY 771238 REC 60.00
1009992R DB-20-L EMERGENCY REC 60.00
1009992 DB-20-L EMERGENCY NEW 60.00
1009433R ABD PIPE BRACKET 563364 REC 63.00
1013365R ABDX PIPE BRACKET 660775 REC 63.00
1009436R DB-30 PIPE BRACKET 775873 REC 63.00
BRAKE PARTS - MISC.

1009871 AB RESERVOIR, ONE PC, SEAMLESS 705925 NEW 256.00
1009871R AB RESERVOIR, ONE PC, SEAMLESS 705925 REC 256.00
1011356R AB RESERVOIR, TWO PC 096825 REC 276.00
1002972 ANGLE COCK, WABCO 572369 NEW 11.36
1002972R ANGLE COCK, WABCO 572369 REC 11.36
1009471 END COCK - FLANGED R/H 581828 NEW 8.50
1009470 END COCK - FLANGED L/H 581829 NEW 8.50
1009467 DIRT COLLECTOR & CUT OUT COCK 577071 NEW 15.00
1009467R DIRT COLLECTOR & CUT OUT COCK 577071 REC 15.00
1002864R A-1 REDUCTION PIPE BRACKET 566333 REC 28.00
1003811R B-1 QUICK SERVICE RELEASE 565453 REC 5.00
1010009R P-1 PROPOSTIONAL VALVE 577723 REC 15.00
1010013R PEP MODULATING VALVE, 62 OR 70 LB 62 or 70 REC 62.00
1010023 3-POSITION RETAINER VALVE 661039 NEW 2.75
1002876 RETAINER VALVE BRACKET 574953 NEW
1010019 S-1 LOAD SENSOR VALVE 577644 NEW 10.50
1009966R SINGLE CAR TEST DEVICE 553852 REC 37.00
1003927 #8 VENT VALVE 567820 NEW 6.00
1019436 VX VENT VALVE 660372 NEW 6.00
1027851 KM2 VENT VALVE 748715 NEW 7.00
1013283 WABCO II CONVERSION KIT WP11-AE NEW

PRS ITEM# DESCRIPTION MFG COND. UNIT WT.

PISTON ASSY'S.

1009546R ABEX BRAKE CYLINDER
1009839R 8 1/2" x 12" ABU PISTON ASSY. 583657 REC 18.00
1009543R 8 1/2" x 12" ABU CYLINDER ONLY 578368 REC
1009808R 8 1/2" x 12" ABU CYLINDER COMPLETE 578330 REC 68.00



1009811R 10" x 12" ABU PISTON ASSY. 528552 REC 27.00
1009529R 10" x 12" ABU CYLINDER ONLY 575804 REC

1009813R 10" x 12" ABU CYLINDER COMPLETE 576079 REC 120.00
1009820R 12" x 10" PISTON ASSY. 543462 REC 78.00
1009531R 12" x 10" ABU CYLINDER REC. REC 42.00
1009830R 7 1/2" WABCO PISTON ASSY. 572387 REC 21.50
1009535R 7 1/2" WABCO CYLINDER 566009 REC

1009828R 7 1/2" WABCO BRAKE CYLINDER COMPLETE 566265 REC 48.00
1009836R 8 1/2" WABCO PISTON ASSY. 572391 REC 22.50
1009541R 8 1/2" WABCO CYLINDER 566251 REC

1004046R 8 1/2" WABCO BRAKE CYLINDER COMPLETE 566250 REC 66.50
1009842R 9" WABCO PISTON ASSY. 572389 REC 30.00
1009545R 9" WABCO CYLINDER 566345 REC 30.00
1009844R 9" WABCO BRAKE CYLINDER COMPLETE 566353 REC 69.50
1009815 10" WABCO PISTON ASSY 572390 NEW

1009527 10" WABCO CYLINDER 566346 NEW

1009817 10" WABCO BRAKE CYLINDER COMPLETE 566354 NEW

PUSH RODS

1009890 32 5/8" WABCO 563926 NEW

1032182 ABEX (ABESCO) 33-22831PR NEW

1009953 ABU BRAKE CYLINDER 26 1/4" 1017-262 NEW

GASKETS & PACKING CUPS

1003311 3/8" FLANGE 93839 NEW 0.10
1003317 1/2" FLANGE 93840 NEW 0.10
1003286 3/4" FLANGE 93841 NEW 0.17
1003280 1" FLANGE 93986 NEW 0.20
1003282 1 1/4" FLANGE 94790 NEW 0.27
1003288 SERVICE PORTION MOUNTING 94784 NEW 0.21
1003287 EMERGENCY PORTION MOUNTING 94783 NEW 0.22
1003292 BRAKE CYLINDER MOUNTING GASKET (FOR B3A BE 566011 NEW 0.50
1009611 BRAKE CYLINDER MOUNTING GASKET (FOR B4A BE 566344 NEW

1003294 DIRT COLLECTOR BOWL 75932 NEW 0.50
1003281 NON PRESSURE HEAD (8 1/2 X 12 OR 10 X 12) 94820 NEW 0.21
1009775 7 1/2" PACKING CUP 571141 NEW 0.70
1009776 8 1/2" PACKING CUP 571105 NEW 0.86
1009777 9" PACKING CUP 506957 NEW 2.00
1003488 10" PACKING CUP 94800 NEW 1.19
1009774 12" PACKING CUP 99882 NEW 1.71
1009616 QRB BLANKING PLATE GASKET(SMALL) 99458 NEW 0.05
1003289 QRB BLANKING PLATE GASKET(LARGE) 97963 NEW 0.05
1003315 RETAINER VALVE GASKET 574952 NEW 2.00
1003999 TRAINLINE HOSE GASKET 563952 NEW 0.25

PRS ITEM# DESCRIPTION MFG COND. UNIT WT.
AIR BRAKE PARTS - MISC.

1009405 BOLT, 5/8" x 12" PIPE BRACKET NEW 1.05
1009770 NUT, PIPE BRACKET STRAINER 94947 NEW 0.05
1009995 DIRT COLLECTOR CHECK VALVE 75551 NEW 0.02
1003770 PIPE BRACKET STRAINER - FILTER (569146) XE5911 NEW 0.50
1009610 GREASE, AIR BRAKE CYLINDER (SOLD IN 35# PAIL ( 1934 NEW 35.00
1003607 PROTECTOR, #8 VENT WITH PLUG 570622 NEW 0.63
1009869 PROTECTOR, A-1 VENT 552378 NEW 0.74
1003608 PROTECTOR, ABD VENT (METAL) 502574 NEW 0.74
1009870 PROTECTOR, ABD VENT (PLASTIC) 502574 NEW 0.74
1003328 RELEASE, VALVE HANDLE (YOKE) 512708 NEW 0.10
1009954 STRAINER, BRASS PIPE BRACKET (PORTS) 96472 NEW 0.02
1003771 STRAINER, BRAKE CYLINDER BRASS - (THIMBLE) 526835 NEW 0.05



1003772 STRAINER, BRAKE BEAM (STAR FOR NPH AND BRK E 94814 NEW 0.15
1009955 STUD, 5/8" x 3" PIPE BRACKET 584253 NEW 0.21
1009956 STUD, 5/8" x 6 5/8" PIPE BRACKET 95062 NEW 0.53
1009957 STUD, 5/8" x 7 3/8" PIPE BRACKET 81370 NEW 0.50
1009866 BLANKING PLATE, QRB 546578 NEW
SLACK ADJUSTERS

1009928 SLACK ADJUSTER GROUP E, NEW - CARDWELL 2300 DJ NEW 85.00
1010983 SLACK ADJUSTER GROUP E, NEW - ELLCON 2000 DJ NEW 100.00
9000093R SLACK ADJUSTER GROUP E, ALL TYPES GROUP E REC

1012808 TMX, C-1000DJ - WABCO C-1000-DJ NEW

1013826 WABCO II, MODEL 85 MODEL 85 NEW

AIR BRAKE HOSE
1009666 12" DUMMY NEW 5.50
1003355 22" TRAINLINE 987101 NEW 5.50
1029207 22" TRAINLINE - "STRAIGHT SHANK" 781668 NEW 5.50
1010611 33" TRAINLINE 587560 NEW 6.42
1004044 1 1/4" x 30" UNDERFRAME HOSE S275022 NEW 6.00
1009669 1 1/4" x 37" UNDERFRAME HOSE NEW 8.00
1009670 1 1/4" x 48" UNDERFRAME HOSE S275021 NEW 10.00
1009671 1 1/4" x 60" UNDERFRAME HOSE S275609 NEW 12.00
1009672 3/4" x 28" WABCO CYL, OFFSET TO STRAIGHT FLAN:! 578219 NEW 3.00
1009673 3/4" x 28" WABCO CYL, OFFSET TO THREADED FLAN 563632 NEW 3.00
1009668 ABEX CYLINDER HOSE S6187279 NEW
PRS ITEM# DESCRIPTION MFG COND. UNIT WT.
AIR BRAKE FITTINGS, COUPLINGS & EXTENTION

1002626 TRAINLINE HOSE EXTENSION 587087 NEW 1.00
1009581 TAP, QUICK DISCONNECT QD4-100 NEW

1009580 BRAKE TEST FITTING- WAFFER W / 45 DEG. WFA NEW

1010614 BRAKE TEST FITTING- WAFFER W / VERTICAL 661156 NEW

1009852 BRAKE TEST FITTING - SADDLE MOUNT 661158 NEW

1003268 3/8" FTG SHORT SOCKET WELD, STRAIGHT & REDU( 565252 NEW 0.38
1009577 3/8" FTG DEEP SOCKET WELD, STRAIGHT & REDUCI 578787 NEW 1.00
1003123 3/8" FTG 90 DEGREE ELBOW, SOCKET WELD 578319 NEW 0.75
1003267 3/4" FTG SHORT SOCKET WELD, STRAIGHT & REDU( 565256 NEW 0.56
1003266 3/4" FTG DEEP SOCKET WELD, STRAIGHT & REDUCI 578788 NEW 1.15
1003121 3/4" FTG 90 DEGREE ELBOW, SOCKET WELD 578321 NEW 1.00
1009574 3/4" COUPLING, SOCKET WELD 305051 NEW 0.41
1003260 1" FTG SHORT SOCKET WELD, STRAIGHT & REDU( 565259 NEW 1.00
1009556 1" FTG DEEP SOCKET WELD, STRAIGHT & REDUCI 578789 NEW 1.25
1003117 1" FTG 90 DEGREE ELBOW, SOCKET WELD 578322 NEW 1.25
1003263 1 1/4" FTG SHORT SOCKET WELD, STRAIGHT & RED 565652 NEW 2.00
1003262 1 1/4" FTG DEEP SOCKET WELD, STRAIGHT & REDU! 578790 NEW 2.00
1003264 1 1/4" COUPLING, THREADED & SOCKET WELD 576080 NEW 0.81
1002995 1 1/4" COUPLING, SHORT SOCKET WELD 576467 NEW 0.81
1009563 1 1/4" COUPLING, DEEP SOCKET WELD 579542 NEW 1.00
1003255 1 1/4" SPLIT FLANGES (FLANGES ONLY) 704780 NEW 0.50



BRANCH PIPE TEES

1003782
1009962
1003786
1003784
1003785
1009964

BRANCH PIPE TEE, SOCKET WELD 3/4 X 3/4 X 3/4
BRANCH PIPE TEE, REINFORCED FLANGED 3/4 X 3/4
BRANCH PIPE TEE, BOTTOM OUTLET 1 1/4" x 1 1/4"
BRANCH PIPE TEE, 45 OUTLET 1 1/4" x 1 1/4" x 1"
BRANCH PIPE TEE, SIDE OUTLET 11/4"x 1 1/4" x 1
BRANCH PIPE TEE, SOCKET WELD 1 1/4" x 1 1/4" x

579002

575955
96879
95490
94786

575905

NEW
NEW
NEW
NEW
NEW
NEW

2.19
2.19
0.20
5.00
5.50
5.50



